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Analogy

Analogy questions test your ability to recognize relationships between words or ideas and to
know when these relationships are parallel. The analogy subtest is an area where, with practice,
you can achieve a very good score.First, you must find the relationship between the original
pair of words. To help you, listed below are some common types of analogies. The list contains
some overlapping and similarities, and the precise names of the categories need not be
memorized. It is important, however, that you learn types of relationships to look for.

Some Common Types Of Analogies

PART and WHOLE: sole:shoe

WHOLE and PART: hand:fingers

CLASS and MEMBER: fish:salmon

TYPE OF: debate:argument

DEGREE: cool:frigid

OPPOSITES: tall:short

WORKER and TOOL: photographer:camera

WORKER and WORKPLACE: teacher:classroom

CAUSE and EFFECT (RESULT): poison:death

EFFECT and CAUSE: death:poison

ACTION and THAT WHICH PERFORMS IT: fly:plane

PURPOSE (or OBJECT:ACTION): scissors:cut

INDICATION OF: boo:disapproval

SYNONYMS: canine:dog

STUDY OF: linguistics:language



CHARACTERISTIC OF: dexterity:pianist
DEFINITION: hero:courage (by definition, a hero has courage)
LACK OF DEFINITION: coward:courage (by definition, a coward lacks courage)

Advice on how to deal with analogy questions is given below. After you have read it, use the
practice tests on this site to help you Practice is particularly valuable with analogies. You can
also create your own analogies using the list of common types given above. Creating your own
list has the advantage of forcing you to think analogously.

Tips For The Analogy Section:
The Reasonable and Inevitable or Valid and Necessary COnnection Rule

You should keep in mind that there must be a reasonable and necessary connection between
two words .
The connection must be VALID, otherwise there would be no point in making the analogy.

For example, what reasonable connection could there be between bird:algebra? On the other
hand, there is a reasonable connection between fish:salmon since salmon is a type of fish.The
connection must also be NECESSARY or INEVITABLE.

There is a necessary connection between photographer:photo since a photographer by
definition takes photos. However, the connection between student:photo is only a possible one
since a student may or may not take photos.

All CAT analogies will have connections that are reasonable (logical, valid) AND necessary or
inevitable. Any choices that fail to meet these criteria should be rejected. If you cannot figure
out the connection between the original pair, you can still improve your chances of picking the
correct answer by eliminating any choices that do not confirm to the above rule.

Make Up a Sentence

Creating a sentence that shows the connection between the two words is absolutely essential
and is the difference between a high or low mark on analogies.

For example, if the first pair of words is APPLAUSE:APPROVAL, your sentence might be:
"Applause is an indication of approval (an indication of analogy)." If the first pair is
chisel:sculptor, you might say "A chisel is a tool used by a sculptor to perform his work (a
tool:worker analogy)."

Be as Precise as Possible



It is important to make your bridge sentence as precise as possible. In the example below, note
how a very general sentence can narrow your choices only slightly while a more precise one can
lead you to the correct answer.

Example

MINISTER : SERMON

(A) politician:promises
(B) heckler:interruptions
(C) doctor:diagnosis

(D) lecturer:speech

(E) curator:museum

For example, we could say:

A minister makes/gives sermons.

A politician makes promises

A heckler makes interruptions.

A doctor makes a diagnosis.

A lecturer makes a speech.

A curator makes a museum . (eliminate).

These sentences only eliminate (E) and aren't a lot of help. But, if we say: "One of the functions
of a minister is to teach through sermons" then we eliminate all choices but (D), that is, "One of
the functions of a lecturer is to teach through speeches."

The Parts of Speech Must Match

If the capitalized pair are NOUN:NOUN, then the correct answer must also be noun:noun. If the
capitalized pair are NOUN:ADJECTIVE, then the correct answer must be noun: adjective, etc.
Most analogies involve nouns or adjectives.

You will find this "part of speech" rule most helpful when a word is used in a way that may be
unfamiliar to you. Try this one:

Example

RIFLE:RANSACK::

(A) search:destroy

(B) shoot : kill

(C) speak:orate

(D) pontificate:discuss
(E) elucidate:clarify



Since all the choices here are verbs, rifle must also be used as a verb. (B) is probably misleading,
then, since it's based on a gun. If you didn't know what the word rifle meant when it is used as
a verb, then consider what possible type of analogy we have here. (C) and (D) are roughly
synonymous while (E) is a true synonym. Possibly a synonym is needed, so you guess (E). And
you're right: rifle does mean to ransack.

Be Alert to Multiple Meanings

Even though the part of speech remains the same (unlike our rifle example), a word may have
multiple meanings. If you are having difficulty figuring out the analogy, perhaps you are using
the wrong definition for one of the words.

The Answer Must Be in the Same Order

Make sure that the capitalized words and the pair you choose are in the same order.
COLLAGE:ARTIST novel: author composer:sonata

A collage is a work of art created by an artist.

A novel is a work of literary art created by a novelist.

A composer is NOT a work of musical art created by a sonata.

(The reverse is true: a sonata is a work of musical art created by a composer.)

Exercise Questions

Directions: Each of the questions below consists of two words that have a certain relationship
to each other, followed by five pairs of related words. Select the correct one.

. ANGLE : DEGREE
.area : square inch
. milk : quart

. society : classes

. letter : alphabet

. time : minutes
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. CONFIRMED : INVETERATE
. knowledge : supposed

. financial : bankrupt

. immature : callow

. credible : incredible

. careful: punishing
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. LULLABY : BARCAROLE
. birth : marriage

. night : morning

. cradle : gondola

. song : poem

. carol : sonneteer

. ZOOLOGY : ANIMALS
. ecology : pollution

. botany : plants

. chemistry : atoms

. history : people

. mathematics : geometry

. DORY : VAN

. dairy : cow

. fish : vehicle

. freighter : caisson

. runners : wheels
. danish : Dutch

. PARQUET : WOOD

. color : painting

. mosaic : glass

. potpourri : medley

. collage : tapestry
. linoleum : marble

. SAW : CARPENTER

. Scissors : tailor

. Wagon : farmer

. Brush : painter

. Typewriter : author
. Trowel : bricklayer



. LURK : WAIT

. boost : elevate

. deplete : drain

. abscond : depart
. bilk : cheat

. topple : stabilize
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. ALCHEMY : SCIENCE
. hostrum : remedy

. sideshow : carnival
. ploy : tactic

. forgery : imitation

. burlesque : comedy
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10. NEEDLE : KNIT
a. bait : fish

b. match : fire

c. loom : weave
d. soap : wash

e. bed : sleep

Answer Key

1.3; 2.b; 3.c; 4.3; 5.c; 6.b; 7.3; 8.c; 9.3; 10.c

Exercise Questions

1. Constitution is to Amendment as Book is to
a. Errata

b. Contents



. Preface

. Acknowledgment

. Pineapple is to Jelly as Tomato is to
.Jam

. Pury

. Squash

. Pickles

. Rickets is to Children as Osteomalacia is to
. Infants

. Mother

. Adults

. Old

. Amaranthus is to Weed as Bordeaux is to
. Insecticide

. Weedicide

. Germicide

. Fungicide

. Hygrometer is to Humidity as Sphygmomanometer is to

. Pressure



b. Blood Pressure
c. Precipitation

d. Heart beat

6. Denigrade is to Devalue as Upgrade is to
a. Revalue

b. Praise

c. Promote

d. Demote

7. Steel is to Bokaro as Hosiery is to
a. Madras

b. Patna

c. Vishakhapatnam

d. Ludhiana

8. Aseel is to Poultry as Salmon is to
a. Cow

b. Camel

c. Fish

d. Horse

9. Milk is to water as Ghee is to



a. Vanaspati
b. Mustard oil
c. Argemome

d. Cream

10. Chapati is to Cook as Meat is to
a. Boil

b. Fry

c. Bake

d. Roast

11. Insulin is to Hormone as Trypsin is to
a. Juice

b. Liver

c. Enzyme

d. Digestion

12. Ploughing is to Aeration as Manuring is to
a. Fertile

b. Replenishment

c. Earthing

d. Agriculture



13. Infestation is to Food as Infection is to
a. Germs

b. Diseases

c. Body

d. Microbes

14. Book is to Publisher as Film is to
a. Writer

b. Editor

c. Director

d. Producer

15. Alienation is to Enstrangement as Paranoia is to
a. Inhibition

b. Behaviour

c. Persecution

d. Ego

16. Latex is to Rubber as Flax is to
a. Linen

b. Wool

c.Jute

d. Cotton



17. Cattle is to Fodder as Fish is to
a. Hay

b. Insects

c. Feed

d. Plankton

18. Algae is to Water as Virus is to
a. Man

b. Host

c. Surroundings

d. Soil

19. Sparrow is to Seed as Silkworm is to
a. Silk

b. Maple

c. Mulberry

d. Pine

20. Venus is to Earth as Mercury is to
a. Sun
b. Pluto

c. Mars



d. Moon

21. Insomnia is to Lead as Minamata is to
a. Tobacco

b. Mercury

c. Alcohol

d. Chromium

22. Bhakra is to Sutlej as Aswan is to
a. Indus

b. Damodar

c. Volga

d. Nile

23. Orange is to Peel as tooth is to
a. Gums

b. Clove

c. Enamel

d. Joints

24. Burma is to Pagodas as Pakistan is to
a. Rivers

b. Canals



c. Agriculture

d. Dams

25. Ladies is to Purse as Gents is to
a. Bag

b. Pocket

c. Wallet

d. Case

26. Hear is to Deaf as Speak is to
a. Quiet

b. Silent

c. Mumb

d. Dumb

27. Exercise is to Obesity as Water is to
a. Thirst

b. Alcohol

c. Drink

d. Purity

28. Food is to Fad as Religion is to

a. Crucification



b. Notion
c. Superstition

d. Mythology

29. Christians is to Burial as Hindus is to
a. Murder

b. Cremation

c. Execution

d. Burn

30. Sulphur is to Vulcanisation as Chlorine is to
a. Extraction
b. Bleaching
c. Metallurgy

d. Allotropy

31. Magnalium is to Aluminium as Brass is to
a. Lead

b. Magnesium

c.Iron

d. Copper

32. Infra-red is to Heat as Ultraviolet is to



a. Cancer
b. Blisters
c. Mutation

d. Ozone

33. Article is to Magazine as Sloka is to
a. Ascetic

b. Veda

c. Recite

d. Book

34. Zinc is to Galvanisation as Nickel is to
a. Aircraft

b. Corrosion

c. Electroplating

d. Filament

35. Memoiries is to Amnesia as Movement is to
a. Lubrication

b. Lethargy

c. Paralysis

d. Hermit



36. Liquid is to Fluidity as Comedian is to
a. Ridicule

b. Humour

c. Solemnity

d. Companion

37. Exculpate is to Acquit as Precise is to
a. Concise

b. Conceal

c. Brief

d. Particular

38. Chopper is to Meat as Spanner is to
a. Vegetables

b. Cakes

c. Nuts

d. Flesh

39. Kilometre is to Distance as Poundal is to
a. Density

b. Acceleration

¢. Momentum

d. Force



40. Buffalo is to Leather as Llama is to
a. Wool

b. Meat

c. Silk

d. Fur

41. Truthfulness is to Liar as Loyalty is to
a. Worker
b. Traitor
c. Diligent

d. Faithful

42. Tiff is to Battle as Frugal is to
a. Sprint

b. Vague

c. Miserly

d. Vital

43. Preface is to Book as Overture is to
a. Opera
b. Ballad

c. Novel



d. Symphony

44. Prairies is to North America as Downs is to
a. Europe

b. Australia

c. Africa

d. India

45. Aluminium is to Bauxite as Iron is to
a. Pyrite

b. Magnesite

c. Pyrolusite

d. Haematite

46. Tempest is to Storm as Slim is to
a. Fat

b. Plump

c. Slender

d. Beautiful

47. Water is to Oxygen as Salt is to
a. lron

b. Sodium



c. Calcium

d. Proteins

48. Trumpet is to Band as Knife is to
a. Fork

b. Metal

c. Cutlery

d. Cut

49. Sweet is to Chocolate as Book is to
a. Dictionary

b. Library

c. Encyclopaedia

d. Atlas

50. Amorphousness is to Definition as Lassitude is to
a. Energy

b. Awareness

c. Uniformity

d. Companionship
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